
SAP ABAP table T8JOH_OHLISTS_LINE {Processing structure that corresponds to T8JOH_OHLISTS table}

T8JOH_OHLISTS_LINE

CLIENT [CLNT (3)]

COMPANY [CHAR (4)]

OVERHEAD_KEY [CHAR (10)]

T000

MANDT [CLNT (3)] T8JOH_OHLISTS_LINE-CLIENT = T000-MANDT 0..N

1
T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 T8JOH_OHLISTS_LINE-COMPANY = T001-BUKRS 
0..N0..N

T8JOH_OVERHEADS

CLIENT [CLNT (3)]

COMPANY [CHAR (4)]

JOA [CHAR (6)]

OVERHEAD_KEY [CHAR (10)]

 T8JOH_OHLISTS_LINE-OVERHEAD_KEY = T8JOH_OVERHEADS-OVERHEAD_KEY 

0..N

0..N


